
WARNING

WARNING

Do not store or use gasoline or other 

vicinity of this or any other appliance.

For outdoor use only.

    

WARNING
Improper installation, adjustment, alteration, service or maintenance can cause injury or 
property damage. Read the owner’s manual thoroughly before installing or servicing this 

result causing property damage, personal injury or loss of life.

 LATTICE 36 INCH WOOD  FIRE PIT RING

INSTALLER: 
Leave this manual with the appliance.
CONSUMER: 
Retain this manual for future reference.

www.costway.com

THIS INSTRUCTION BOOKLET CONTAINS IMPORTANT SAFETY INFORMATION. PLEASE READ AND KEEP FOR FUTURE REFERENCE.

Follow Costway
Visit us: www.costway.com

Please give us a chance to make it right and do better！

Contact our friendly customer service department for help first. 

Replacements for missing or damaged parts will be shipped ASAP!



WARNING

Before you assemble or operate this unit, please carefully read this entire manual. Failure to do so  

SAFETY INFORMATION

• FOR OUTDOOR USE ONLY! This fire pit shall be used only outdoors in a well-ventilated space
and shall not be used in a building, garage, or any other enclosed area.

• Use poker to open and close mesh lid. Handles may be hot due to flames.
• DO NOT add gasoline, kerosene, diesel fuel, lighter fluid or alcohol to relight or enhance flame.

Excessive heat may damage the integrity of the structure. The ONLY method of lighting used
should be a match or lighter. Do not use any flammable fuels.

• Never use charcoal or any other solid fuel in the fire pit.
• DO NOT use the unit indoors due to hazard of carbon monoxide fumes. Lack of ventilation can

cause death.
• This fire pit was designed for burning untreated wood ONLY. Do not use with chemically treated

fire logs.
• DO NOT pour water into fire pit when it is burning; this will cause rusting.
• Check the local bylaws before using the fire pit.
• Never leave a lighted fire pit unattended.
• DO NOT use under any unprotected combustible structure. Keep combustible surfaces at least

one yard away from all sides of the fire pit.
• Protective gloves and long-handled tools are recommended for use with this fire pit.
• Dispose of packing materials properly.
• DO NOT use fire pit on wooden decks or on other combustible surface.
• Keep children away from hot fire pit.
• Young children should be carefully supervised when they are in the the area of the fire pit.
• Clothing or other flammable material should not beplaced on or near the fire pit.
• Any guard or other protective device removed for servicing must be replaced prior to

operating the fire pit.
• Fire pit will remain very hot for a period of time after using.
• Be sure fire pit is cooled before moving.
• Use with extreme care and at your own risk.
• This fire pit must be attended at all times!
• Do not operate fire pit unless it is completely assembled and all parts are in place.
• Pay attention when operating the fire pit. It is hot when in use and should never be left

unattended. Do not move it while in operation.
• Do not use this fire pit for cooking.
• Do not put any other fire pit cover or anything flammable on, beneath or around the fire pit.
• Never place clothing or other flammable materials on or near the fire pit.
• Users should be alerted to the hazards of high surface temperatures and keep a safe distance to

avoid burning or clothing ignition.
• Never lean over the open fire pit or place hands or fingers on the upper portion of an operational

unit.
• Keep any electrical supply cords and the fuel supply hose away from any heated surfaces.

2

www.costway.com



• 
• 
• 

Combustible materials should never be within 48 inches of the top, back or sides of the fire pit
Do not handle the fire pit until it is completely cooled.
This heating appliance should not be used on plastic or artificial wood decks.

3



AA BB

Item Description Qty
AA

BB

8

8

HARDWARE

Before beginning assembly of product, make sure all parts are present. Compare parts with 
package contents list and hardware contents list. If any parts are missing or damaged, do not 
attempt to assemble the product.

Estimated Assembly Time: 15 minutes

1
Wrench 1

CC DD 

bottle opener C C

DD

M6x12 Screw

M6 Nut

巨

4

www.costway.com



Item Description Qty
A 3
B Poker 1

CONTENTSCONTENTS

B

Fire Ring 1 

A

C

C Fire Ring 2 1

5

www.costway.com



ASSEMBLY INSTRUCTIONS

1.Attach two fire rings (A) using 2pcs M6x12 screws (AA)
and 2pcs M6 nuts (BB).

2. Attach the third fire ring (A) using 2pcs M6x12
screws (AA) and 2pcs M6 nuts (BB).

3. Attach the last fire ring (C) using 4pcs M6x12
screws (AA) and 4pcs M6 nuts (BB).

AA

BB

A

AA

BB

A

AA

AABB

BB

C

6

www.costway.com



To Extinguish

Tending The Fire

required, place wood on top of coals. Be careful not to shift ashes.

To Light

OPERATION

MAINTENANCE

• This outdoor �re pit should be inspected on a regultor basis to ensure product safety and long
product life.

• Check handles to make sure they are secure.
• Check components for any signs of damage or rust.
• Wipe exterior surfaces with a mild cleaning product and water.
• For stubborn surfaces use a citrus based degreaser and soft cloth.
• Rinse surfaces clean of any cleaning product with water after cleaning is complete.
• Remove built-up creosote from components with a chimney cleaning product.
• Store �re pit in a cool dry place.
• Use manufacturer-approved or supplied replacement parts and accessories only. Otherwise it

may void the warranty of this product and result in a hazardous condition.
• Keep the �re pit free and clear from combustible materials and debris.

1. Make sure all debris is removed from the �re pit.
2. Place a layer of dry kindling or a natural �restarter onto the center of the log rack.
3. Place above that a layer of dry seasoned hardwood that is cut to lengths no more than 3/4 the

width of the �rebowl.
4. Use a long match to light kindling.

2. Wait until glowing coals have developed before adding any additional wood. If additional wood is

1.

7

www.costway.com

www.costway.com



8

Reward Points
Exclusive Customer Service
Personalized Recommendations
Permanent Shopping Cart
Order History

We would like to extend our heartfelt thanks to 

all of our customers for taking time to assemble 

this product and giving us valuable feedbacks.

www.costway.com

Welcome to visit our website and purchase our quality products!

Your suggestions and comments for COSTWAY are really important to us! 
We sincerely solicit you to go back to our shop and leave a good rating in just a 
simple click. It would be quite encouraging if you could kindly do so like below:

Great products so far
February 24, 2019
Great products so far. Fast delivery, easy setup, and working without any issues. 

With your inspiring rating, COSTWAY will be more consistent to offer you 
EASY SHOPPING EXPERIENCE, GOOD PRODUCTS and EFFICIENT SERVICE!

US office: Fontana, California
UK office: Ipswich

www.costway.com



�-
COSTWAY 

SHOP EASY. SAVE MONEY. I 颤


	空白页面



